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3. 2Cu + 0, ==2Cu0
CaCo, Ca0 +CO, 1
Cu. 0, . CaCo, CuO. Ca0,
Co, 0, Co,
0, Co,
1. Cu  CaCoO,
0, (o,
Cu x CaCoO,
> D, AICL, +3NaOH ==AI(OH), | +3NaCl
N 3mol: 1 mol =2 mol * L™ x ¥,:0. 1 mol V,
7 200 mL 1 mol * L' AICI, =0.15 L =150 mL. NaOH
2 mol * ™' NaOH 7.8 ¢ NaOH v,
AI(OH), NaOH AICI, +3NaOH ==AI(OH), | +3NaCl
( )o 0.2 mol AICl; 0.6 mol NaOH 0.
D100 mL. @150 mL (3300 mL. @350 mL. 2 mol AI(OH),;
A @ B. @ .03 D.Q@ AL(OH), + NaOH ==NaAlO, +2H,0
0.1 mol Al (OH), 0.1 mol
NaOH ; NaOH 0.1 mol AI(OH),
NaOH 0.7 mol(0.6 mol +0.1 mol =0.7 mol) NaOH
AICL, +3NaOH ==AI(OH), | +3NaCl NaOH V, =0.7 mol +
Ao 2 mol * L™' =0.35 L =350 mL.
n(AICL) =1 mol * L' x0.2 L= NyOH 150 mL 350 mL.
0.2mol n AI(OH), =7.8 g=+78 g+ mol™' = D.
0.1 mole NaOH NaOH ( 12018 — 11 -10)
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2Cu + 0, =—=2Cu0
Cu O, 0, °
32x
128 .
3.
CaCO, ==Ca0 + CO, 1
CaCO, €O, Co, « ,
44y R2x _44y o« _ « »
100 128 ~ 100 y
44 ,
- 44:25, . .
3
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2 AY o .
¥ mo
— . Fe +2HCl ==FeCl, + H, 1
i} 56 2 56-2
X m
KCl
NSO ka1 K1 neso CaCO, +2HCI = CaCl, + H,0 + CO, 1
S o 100 44 100 -44
2 Na* K*
. y m
Na 1 KCl  Na,SO, s6 54100 56
v m oy om
: g o0m _100m w392
K* Na' “ 54 Y756 y 675
1 1 KCl 0.5 392: 675
Na, S0, KCl
w(KCl) =1 Kcl /(1 Kal
+0.5  Na,SO, ) x100%
W(KCL) =5 1009% =51.2% .

T74.5 +142 x0.5 >
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o A.D Mg Cu
B.® Zn
o C.® Mg Zn
; D.@® Mg 7Zn
( N
> o xg (10 —-x) ¢
4 x+ (10 —x) x
A,(C) A,(C) 12
M (CaC0y) - 0% (co,y  F U0 X,
12
_IOXH x=1.735¢g
w(C) =1'17035 x100% =17.35% «
4
Co,
C  CaCo,
C CaCo,
Co,
m(C) +m(CaCO, C) = ’
C(CoO, C)
° ( 12018 - 12 - 10)

10 g



